

① $\iint_M xy \, dx \, dy$ $M: 1 \leq x \leq 4, \frac{1}{x} \leq y \leq \sqrt{x}$
 a) nakresli si množinu M

$$\int_1^4 \left(\int_{\frac{1}{x}}^{\sqrt{x}} xy \, dy \right) dx = \int_1^4 x \left[\frac{y^2}{2} \right]_{\frac{1}{x}}^{\sqrt{x}} dx =$$

$$= \int_1^4 x \left(\frac{x}{2} - \frac{1}{2x} \right) dx = \int_1^4 x \left(\frac{x}{2} - \frac{1}{2x} \right) dx =$$

$$= \int_1^4 \left(\frac{x^2}{2} - \frac{1}{2x} \right) dx = \left[\frac{1}{2} \cdot \frac{x^3}{3} - \frac{1}{2} \ln|x| \right]_1^4 =$$

$$= \frac{1}{2} \cdot \frac{64}{3} - \frac{1}{2} \ln 4 - \left(\frac{1}{2} \cdot \frac{1}{3} - \frac{1}{2} \ln 1 \right) =$$

$$= \frac{32}{3} - \frac{1}{2} \ln 4 - \frac{1}{6} = \frac{64-1}{6} - \frac{1}{2} \ln 2 =$$

$$= \frac{63}{6} - \ln 2 = \frac{21}{2} - \ln 2$$

10 22-18:03

② $\iint_A f(x,y) \, dx \, dy$

$$\iint_A f(x,y) \, dx \, dy = \iint_1 f(x,y) \, dx \, dy + \iint_2 f(x,y) \, dx \, dy + \iint_3 f(x,y) \, dx \, dy$$

$$= \int_2^4 \left(\int_{x-3}^x f(x,y) \, dx \right) dy + \int_2^4 \left(\int_{x-3}^x f(x,y) \, dx \right) dy + \int_2^4 \left(\int_{x-3}^x f(x,y) \, dx \right) dy$$

$$\textcircled{1} I = \int_2^4 \left(\int_{x-3}^x f(x,y) \, dx \right) dy \quad \textcircled{2} I = \int_2^4 \left(\int_{x-3}^x f(x,y) \, dx \right) dy$$

$$\textcircled{3} I = \int_2^4 \left(\int_{x-3}^x f(x,y) \, dx \right) dy$$

10 22-18:16

③ ZAMĚNĚTE PORADÍ INTEGRACE

$$\int_0^1 \left(\int_{2x}^{x^2} f(x,y) \, dy \right) dx$$

$$I_1 = \int_0^{\frac{1}{2}} \left(\int_{\frac{y}{2}}^{\sqrt{y}} f(x,y) \, dx \right) dy \quad I_2 = \int_{\frac{1}{2}}^1 \left(\int_{\frac{y}{2}}^{\sqrt{y}} f(x,y) \, dx \right) dy$$

10 22-18:29

④ Vypočítejte integrál

$$\iint_A (x+y) \, dx \, dy$$

$$\int_0^1 \left(\int_{x^2}^x (x+y) \, dy \right) dx = \int_0^1 \left[xy + \frac{y^2}{2} \right]_{x^2}^x dx =$$

$$= \int_0^1 \left(x^2 + \frac{x^2}{2} - x^3 - \frac{x^4}{2} \right) dx =$$

$$= \int_0^1 \left(\frac{3x^2}{2} - x^3 - \frac{x^4}{2} \right) dx =$$

$$= \left[\frac{3}{2} \cdot \frac{x^3}{3} - \frac{x^4}{4} - \frac{1}{2} \cdot \frac{x^5}{5} \right]_0^1 = \frac{1}{2} - \frac{1}{4} - \frac{1}{10} =$$

$$= \frac{10-5-2}{20} = \frac{3}{20}$$

10 22-18:36

⑤ $\int_0^{\frac{\pi}{2}} \left(\int_0^x y^2 \sin x^2 \, dy \right) dx =$

= VYMĚNĚTE PORADÍ

$$= \int_0^{\frac{\pi}{2}} \left(\int_0^x y^2 \sin x^2 \, dy \right) dx =$$

$$= \int_0^{\frac{\pi}{2}} \sin x^2 \left[\frac{y^3}{3} \right]_0^x dx =$$

$$= \int_0^{\frac{\pi}{2}} \sin x^2 \left(\frac{x^3}{3} - 0 \right) dx =$$

$$= \frac{1}{3} \int_0^{\frac{\pi}{2}} x^3 \sin x^2 \, dx = \left[\frac{dx=2x \, dx}{dx=2x} \right]$$

$$= \frac{1}{6} \int_0^{\frac{\pi}{2}} t \sin t \, dt \quad \left[\begin{matrix} u=t & v=1 \\ u'=1 & v'=-\cos t \end{matrix} \right]$$

$$= \frac{1}{6} \left([t \cos t]_0^{\frac{\pi}{2}} + \int_0^{\frac{\pi}{2}} \cos t \, dt \right) =$$

$$= \frac{1}{6} \left([t \cos t]_0^{\frac{\pi}{2}} + [\sin t]_0^{\frac{\pi}{2}} \right) =$$

$$= \frac{1}{6} (0 + 1 - 0) = \frac{1}{6}$$

10 22-18:43

⑥ Vypočítejte objem tělesa

$$z = x^2 + y^2 \quad x+y=1 \quad \left[\begin{matrix} z=0, x=0 \\ y=0 \end{matrix} \right]$$

$$V = \int \int \int_{z=0}^{z=x^2+y^2} 1 \, dz \, dy \, dx = \int_0^1 \int_0^{1-x} (x^2+y^2) \, dy \, dx =$$

$$= \int_0^1 \left(x^2 y + \frac{y^3}{3} \right)_{y=0}^{y=1-x} dx = \int_0^1 \left(x^2(1-x) + \frac{(1-x)^3}{3} \right) dx =$$

$$= \int_0^1 \left(x^2 - x^3 + \frac{1-x^3}{3} \right) dx = \int_0^1 \left(\frac{2x^2}{3} - \frac{4x^3}{3} + \frac{1}{3} \right) dx =$$

$$= \left[\frac{2x^3}{9} - \frac{4x^4}{12} + \frac{x}{3} \right]_0^1 = \frac{2}{9} - \frac{1}{3} + \frac{1}{3} = \frac{2}{9}$$

10 22-18:52

3) Společně integrujeme

$$\int_0^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} 2(x^2+y^2) dx dy$$

$A = \{(x, y) \mid x^2 + y^2 \leq 1, y \geq |x|\}$

Substitujeme $\begin{cases} x = r \cos \varphi \\ y = r \sin \varphi \end{cases} \Rightarrow \begin{cases} dx = -r \sin \varphi \\ dy = r \cos \varphi \end{cases}$

$$= r \cos^2 \varphi + r \sin^2 \varphi = r (\cos^2 \varphi + \sin^2 \varphi) = r$$

$$\int_0^{\frac{\pi}{4}} \int_{\frac{\pi}{4}}^{\frac{\pi}{2}} (2r^2) r d\varphi dr = \int_0^{\frac{\pi}{4}} \int_{\frac{\pi}{4}}^{\frac{\pi}{2}} 2r^3 d\varphi dr = \int_0^{\frac{\pi}{4}} \left[\frac{2r^3}{r} \right]_{\frac{\pi}{4}}^{\frac{\pi}{2}} d\varphi = \int_0^{\frac{\pi}{4}} \left(\frac{16}{2} - \frac{1}{2} \right) d\varphi = \int_0^{\frac{\pi}{4}} \frac{15}{2} d\varphi = \left[\frac{15}{2} \varphi \right]_0^{\frac{\pi}{4}} = \frac{15}{2} \cdot \frac{\pi}{4} = \frac{15\pi}{8}$$

10 22-19:06

3) Společně integrujeme

$$\int_0^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} 2(x^2+y^2) dx dy$$

$x^2 + y^2 = 1^2$ (kružnice) horní polokružnice
 $x^2 + y^2 = 1 \Rightarrow x^2 + y^2 = 1$
 $y = -\sqrt{1-x^2}$ / polovina $y \leq 0$
 $y^2 = 1 - x^2$ dolní polokružnice
 $x^2 + y^2 = 0 \Rightarrow (x-0)^2 + y^2 = 0$
 $x^2 + y^2 = 0 \Rightarrow x=0, y=0$

$I_1 = \int_0^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} 2(x^2+y^2) dx dy = \int_0^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} 2r^2 r d\varphi dr = \int_0^1 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} 2r^3 d\varphi dr = \int_0^1 \left[\frac{2r^3}{r} \right]_{-\frac{\pi}{2}}^{\frac{\pi}{2}} dr = \int_0^1 \left(\frac{16}{2} - \frac{1}{2} \right) dr = \int_0^1 \frac{15}{2} dr = \left[\frac{15}{2} r \right]_0^1 = \frac{15}{2}$

$I_2 = \int_0^1 \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} 2(x^2+y^2) dx dy = \int_0^1 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} 2r^2 r d\varphi dr = \int_0^1 \left[\frac{2r^3}{r} \right]_{-\frac{\pi}{2}}^{\frac{\pi}{2}} dr = \int_0^1 \left(\frac{16}{2} - \frac{1}{2} \right) dr = \int_0^1 \frac{15}{2} dr = \left[\frac{15}{2} r \right]_0^1 = \frac{15}{2}$

$I = \frac{15}{2} + \frac{15}{2} = 15$

10 22-19:20